ﬂé Finding Equivalent Expression with Negative Numbers  Name:

Solve each problem.

1)

3)

5)

7)

9)

Which expression(s) are equivalent to
Ts- (7o

A. 75 (+7¢)

B. /5~ (+/o)

C. 75~ (o)

D. -7+ (+7¢)

Which expression(s) are equivalent to
-8-(9)?

A.-8+(-9)

B. -8+ (+9)

C.8-(9

D.8+(9)

Which expression(s) are equivalent to
8/9 + ('2/3)?

A. Yo+ ()

o~ (7

To+ (7

D. 75~ (/)

O

Which expression(s) are equivalent to
1/2 + (3/9 ?
1, 3
A. 75~ (79
B. 7y~ (+7o)
C. 7y~ ()
D. 1/2 + ('3/9)

Which expression(s) are equivalent to

6/8 + ('1/5)?

2)

4)

6)

8)

10)

Which expression(s) are equivalent to
8.2 - (+3.98)?

A.82+(-3.98)

B. 8.2+ (3.98)

C.-8.2+(+3.98)

D.-8.2-(-3.98)

Which expression(s) are equivalent to
8+ (+2)?

A.-8-(2

B.8+(2)

C.8+(-2

D.8-(-2)

Which expression(s) are equivalent to
2+ (-1)?

A.2+(1)

B.-2+ (+1)

C.2-(+)

D.2+ (+1)

Which expression(s) are equivalent to
8.02 - (1.95)?

A.8.02 + (-1.95)

B. 8.02 - (+1.95)

C. 8.02 + (+1.95)

D. -8.02 - (-1.95)

Which expression(s) are equivalent to
-1.95 + (+3.21)?

Answers

10.

A.-1.95-(-3.21)
ATy (+19) B.-1.95 - (3.21)
B. -7+ (-70) C.-1.95+ (-3.21)
C. _6/8 NV ) D. 1.95 + (3.21)
D. 74~ (79
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ﬂé Finding Equivalent Expression with Negative Numbers Name:  Answer

1)

3)

5)

7)

Key
Solve each problem. Answers
Which expression(s) are equivalent to 2) Which expression(s) are equivalent to
Y Yy 8.2 - (+3.98)? L D
1 4 A.8.2+(-3.98)
A'i/S_ (’;/9) B. 8.2+ (3.98) , A
B. /5- (+79) C.-8.2+(+3.98) '
1 4 D.-8.2-(-3.98
Y- (¥ (3.98) N A
D. -7+ (+7¢)
4 B,.D
Which expression(s) are equivalent to 4) Which expression(s) are equivalent to
-8-(9)? 8+ (+2)? 5 D
A.-8+(-9) A.-8-(2
B. -8+ (+9) B.8+(2) 5 C
C.8-(9 C.8+ (-2
D.8+(9) D.8-(-2
7 C
8 A,B
Which expression(s) are equivalent to 6) Which expression(s) are equivalent to
o+ (-7 2+ (-1)? 9 2
8 2 A.2+(1)
A-'8/9+('2/3) B.-2+ (+1) 0 A
B.-/y- (-73) C.2- (+1)
c. %+ D.2+(+1)
D. 75~ (/)
Which expression(s) are equivalent to 8) Which expression(s) are equivalent to
1/2 + (3/9 2 8.02 - (1.95)?
1, 3 A.8.02 + (-1.95)
A. 1/2 . (/53) B. 8.02 - (+1.95)
B. /5- (+79) C.8.02 + (+1.95)
1 3 D.-8.02-(-1.95
C.75-(-79 (199
D. 75+ (/)
Which expression(s) are equivalent to 10) Which expression(s) are equivalent to

9)

6/8 + (‘1/5)?

-1.95 + (+3.21)?

A.-1.95-(-3.21)
ATy (+19) B.-1.95 - (3.21)
B. -7+ (-70) C.-1.95+ (-3.21)
C. _6/8 NV ) D. 1.95 + (3.21)
D. 74~ (79
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